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Examplel 9
I think you should give her a call and apologize to her. (12 words) A
Example2

You should call her to say sorry for not attending the party (12words)

(2)
Examplel

.She is so kind and patlent to teach us that all my class hke her. (15words)
Example2

She is relaxed and enjoys chatting with her students. (9 words) -

(3)
(i) (b
(i) (a)
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(3)

Examplel

When I was in high school, I was the best in my English class. I even wondered why many
students have trouble with the subject. However, once in university, I might see many
students who are better at English. Therefore, I should remember to keep improving my
English rather than be proud of it. (54 words)

Example2 g

At junior high, I got good grades in most of the subjects. One day I was shocked when I
read a line in my grade report saying, “There is always someone who does better than you,”
which had been written by my homeroom teacher, whom I respected then and I stiil do.
(52words) '
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(1)
Examplel

You can see some striking differences in the population compositions between Saga prefecture
and Tokyo metropolis. In Saga, there are more elderly people than young, and especially
fewer young people from 20 to 29 years old. This is probably because they go out to big
cities to study or work, never to return. In Tokyo, the largest age groups are between 25 to
59 of age. This means that Tokyo is a big business city and attracts a large workforce from
all over Japan. However, the rates of young people under 19 in the population here are
remarkably low. Tokyo is also an aging city. (104 words)

Example2

The two graphs show that both Saga and Tokyo have more female than male population. It
should also be noted that the number of those in their forties is relatively high. In fact, those
in these age groups comprise the largest portion of the population in Tokyo. Most importantly,
the graphs confirm the popular perception that J apan is a super-aging society with a declining
birth rate.  This trend is obvious when you compare the population of the elderly with that of

young people. Especially in Saga, the number of people in their sixties is larger than that of
any other age group. (102 words)

(2)
Examplel ‘

If this tendency continues, both Saga prefecture and "Tokyo metropolis will suffer from the
problem of aging society. As the number of working people decreases, the local governments
will collect less tax money.  In addition, as the number of elderly people increases, health care

costs will double or even triple. This is an inevitable negative spiral caused by the dynamic
trends in population. (63 words)

Example2
Japanese society will be much older. Because of this aging trend, Saga and Tokyo could
also see their workforce decrease, while social security cost would increase. In addition, both
regions might need to provide social welfare service to many of those who are now in their
forties as they had difficulty finding secure jobs when they were younger. (58 words)
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